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1. Assume the transistor you will use has a B of 155 and Vgg(on)=0.65 V. For the circuit in Fig. 2. calculate
the overall resistance (Rg and pot) such that I.=1 mA.
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Fig. 2. BIT transistor circuit 1
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Compute the voltage Ve.

Find the values for the input impedance R;. output impedance R, and small signal transconductance gn,.
Find the value of the small signal voltage gain.

Construct the circuit in Fig. 2 in Pspice and find the small signal parameters g, and r... Compare SPICE
results and hand calculations. Explain the differences. if any.
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Fig. 3. Common-emitter configuration




